Name: Class quiz 2 Feb 2, 2018

I) Evaluate the following integral:

Trew. O 6=0 U=0
s L= BV o
a- /OQCOSQ-cos(wsine)dG do = T@%dﬂ 6=T U ="TC
TC
"”!‘“J Cealu) dO
=0
O
.= 1C
T =
O
[ AU = i U-:’- 3
> /2(x+1)(:c2+2x)3dx w= L4 ax ¥
1 du-@r+de A= U=
g () dx
9_21__ wWdu
3 ¥ "

4 X
- M) . ¥ _ 3
S’L g 78



IT) Given the following graph of a function f(x).
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Define g(z) = [; f(t)dt on the interval [0,4].

a- At what value z does g have an absolute maximum on [0,4].

Cﬂ: K= o

b- At what value = does g have an absolute minimum on [0,4].

ak  x=0

¢- On what interval is g increasing.
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